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I Continuation of analysis of X2
a 1991 Yy — took the apportionments of the other scouts
i Source:v.1, yn superfluous due to v.2; vn = lived on their land
b mp n DInonn — their children got their apportioned land via their paternal and maternal grandfathers
i Challenge: X1 reads that 2951 ywin» got all of these
ii  Answer: 1t xn»71 doesn’t compare D910 <->DYnn, 27 does, as per interpretation of v. 3
1 Question (»7an5 97): according to this authority, did 25,7 ywin» inherit so much?
(a) Answer: wmbonn refers to the “complainers” among n1p N1 (NP N1 DINYNN)
2 Observation (2ax5 97): v. 4 supports position of PPWR’ 1 (PIRN NPOMI D1IXN IRXVY)
(a) Explanation: that’s why there are 10 portions — 6 Mannasite families and 4 for Tnabx nia
(b) However: 1mv "v's position doesn’t work — should be 8 (6+2 [portions of redivide from qan])
(c) Defense (77an): either position is weak — n?wR> "1 should have 9 (6+3 [as per nmwn])
(i) Rather: must have been another brother who died after 1an (before 1> yvi’) as per v. 5
(if) Similarly: 10y "1 could argue that there were another 2 brothers
3 Question (»2an5 97): does 1 YW1 reckon w990 (should be more) or just ax 'na (should be 6)?
(a) Amnswer: just ar 'na—but it’s there to teach that Tnabs nmia also got n7122 pon
(i) Teaching: that »& is nprmn (1122 only gets double portion in prmn, not M1X7)
¢ mp o™ omonnn (redux) — challenge from Rn»1 reading that they got jnyy mora
i Answerl: that follows 1 " (given to pIrn 'R1); earlier kn»1a follows NYwr>
ii  Answer2: both follow 1mv " (1), 2nd ®n»1a refers to those over 20 years old at the time
I Analysis of final clause of the n1wn —Tna%s was the 7131 of 19n, so TNa%x M1 got 2 portions (+1navy’s)
a  Challenge: a 1131 only gets double pmina
i Answer (580v): refers to pov9on  Block: v. 4 (refers to ypIp)
ii  Rather (737): "R is nprmn
1 Challenge: teaching of »11npwn Pynw "
(a) smbmy nwaa written TNad¥ M2 Mot — as 1Y was only in doubt if they get N2 phn
(b) wwipn w9 (v 6): written WWIPN NAINY — as n"YIn was only in doubt as to which 772 nnn
2 Answer: that was his doubt - how to read v. 7 (inherit or bequeath)
(a) Solution: it is both — inherit (= N1 pYn goes to them as pPprnn) and w70 (to next generation)
(i) Explaining: the wording of v. 8 (\nr>an instead of 118’an) - the next generation will inherit
I Aggadic excursus on 7n95% 2 nwio: v. 9 —in what order did they approach?
a  Answerl (i7wn’ *9): invert the verse — they approached elders etc. until they approached nwn
b Answer2 (8”7 ow3a jn1 XaR): they approached all in the w11 nva
i Explaining the dispute: whether we show deference to a student in the presence of the teacher
1 Resolution of conflicted rulings: if teacher shows deference to student, so may we in his presence
IV Further mmnon 1nosy nuaRm 1 — they were wise (timing), expounders (v. 10), righteous (married proper men)
a  Addendum: they all married at 40, but had children as a reward for the mp1¥, a la 7257 (vv. 11-13)
b Note: Tnabs nma are reckoned differently — by age (1> 92701) or by wisdom (13 92112)
i Explanation (as per »nx ’7): in re: n2>w), we reckon by wisdom (if the sage is significantly wiser than the rest)
1 But:inre: a feast, we begin with the eldest (if the eldest is significantly older than the rest)
ii  Dissent (#7227 N217): they were of equal status, therefore the order is arbitrary
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